A+ 71
IERMETON: RERFOERERELEVTHMI—> BHEEZ

ERHE T ERERE— 7 x =aF +e,
y =bF + e,
z=cF +e,

a. RUCIIAFERTE

X y z
BA BTN /TN

A0 | RFFIT| IBIRER
dtiEE 554 17.0 5.17
B 139 11.6 4.55
=F 135 12.9 4.66
= I 234 19.4 5.46
A H 111 13.9 4.00
Lz 119 16.8 4.56
= 205 18.3 4.92
R 296 26.8 5.25
HA 201 24.4 5.52 X y Z
e 201 235 5.14

¢




xDHES, (=V,) EFEBES,,

S.> =V(aF +e,) = a’V(F) + aCov(F,e,) + V(ey)

Sy = Cov(aF + e,, bF + ey)
= abCov(F,F) + aCov(F, ey) + bCov(e,, F) + Cov(ex, ey)
= abV(F) + aCov(F, e,) + bCov(e,, F) + Cov(ex, ey)

A_{Cov(F, ex) = Cov(F,e,) = Cov(F,e,) =0 } IR
Cov(ey, e,) = Cov(e,,e,) = Cov(e, e,) =0

y
S, =V(aF +e,) = a?V(F) + V(ey)
Sxy = abV(F)

S,°=1 V(F)=1 «iZ#/L

1=a*+V(ey) 1=b*+V(e,) 1=c*>+V(e,)
Sxy = ab Sy, = bc S, =ca



A0 | RERT| BIRER
dtiEE 554 17.0 5.17
kL 139 11.6 455
=F 135 12.9 4.66
= 234 19.4 5.46
A HE 111 13.9 4.00
1T} 119 16.8 4.56
=] 205 18.3 4.92
I 296 26.8 5.25
mAR 201 24.4 5.52
HE 201 23.5 5.14
REAR 182 19.8 5.17
N 120 19.8 5.25
=y 114 15.5 5.47
BRE 172 15.4 5.05
i 138 19.8 6.28
TEHiE 272 24 5
o 261.0 7.8 0.6
EEE1E

7—5 — Tl

BEREO

AD | iR&EHAT| IEIRER
1.08 -0.90 -0.09
-0.51 -1.59 -1.19
-0.52 -1.43 -1.00
-0.14 -0.60 0.43
N -0.62 -1.30 -2.17
*ETEE“: -0.59 -0.93 -1.17
|:> -0.26 -0.74 -0.53
0.09 0.35 0.05
-0.27 0.04 0.53
-0.27 -0.07 -0.14
z . 4 ’
-0.3 -0.55 -0.09 ‘
-05 -0.55 0.05
-0.6 -1.10 0.44 @ @ @
-0.3 -1.11 -0.30
-0.51 -0.55 1.88
Sxy 0.756 ab
Syz 0.760'\%\ HHE
Szx 0.770 ca
Sex e =COVAR(G3:G49||H3:H49>
a 0.875
b 0.864
. 0.879 a’ b?% c? = ab X bc X ca =0.756% 0.760 x 0.770
i abc = 0.665
BINR—I &Y )
Sxy = ab a =0.875
Syz = bc b =0.864
Szx = ca c =0.879



1=a?+V(e)
a? V(ex) 1=0b*+V(ey)
! 1=c?+V(ep,)
2 Ve a =0875 — a?=0.766
4 b =0.864 — b2 =0.746

-
g

c =0.879 — ¢%2=0.773

c? V(e,)

ENEE=5"+5"+S,"=1+1+1=3

EFFHAERAT B0 ERD#FIN2 = a® + b%2 + ¢c2 = 0.766 + 0.746 + 0.773 = 2.285
= e NFFNERBAT D08 _ 2285 _

HHHR= = === =10.762

EFFHEREAT 558 1%

HEZFE 0.762



f(x)=ax+b :_Et@ﬁtj

aCov(x,x) = %{(xl — %)%+ (x; — %)%+ -+ (x, — %)%} =V(x)

V(ax + b) = %[{(axl +b) — (ax + b)}* + -+ {(ax,, + b) — (ax + b)}?] 2 | Xy | X5 | X

=a? - {(t; — )2+ (D2 + -+ (4, — D} = a?V (x)

Vix+y) ==[{(1 +y) =G+ + -+ {(xn + y) — (£ + 93]

[(Go, — 2) + Gy = PP+ + (G = ) + O — DI
=~ {C = D2+ -+ Gon = DN + 22 {0 = D1 =) + -+ Ctn — D) (0 — )
+ {1 =2+ -+ G =N = V() + 2Cov(x,y) + V()

1

n
1
n
1
n

Cov(ax, by) = %{(axl —ax)(by, — by) + -+ + (ax,, — ax)(by,, — by)}
= ab1 = {(ty = D)1 =) + -+ (= D — M} = abCov(x,y)
Cov(x +vy,2) = E{(xl +y,—x—V)(z;—-2)+-+ Uty —x—y)(z,—2)}

=%{(x1 —%)(z1 —2) + -+ (xy — Pz, — 2)} +%{(y1 V(=2 + -+ (O —Y) (2 — 2)}
= Cov(x, z) + Cov(y, 2)
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